
Day 2 Exercise 
 

  
 
Assume a car dealer has 20 new Mustangs. 
- 10 have manual transmissions 
- 12 are GTs 
- 4 of the GTs have automatic transmissions 
 
How many non-GTs are there? 
How many GTs have manual transmissions? 
How many non-GT's have automatic transmissions? 
 
There are 8 convertibles. 
- 2 convertibles are GTs with manual transmissions 
- 3 convertibles are GTs with automatic transmissions 
- There are no convertible non-GTs with manual transmissions 
 
How many non-GT convertibles are there? 


